Al & 0Ol & AFSE Z Ml A
0243 20lat LE JIEIS R, SIIESEH 21
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Hm: SALXI| PE
ol SEEE & OOHEAN (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
31 24,003,713 25,131,415 A1,077,702
= 13,262,626
[ 80,000
Jl 155,969
== 2,215,753
= 8,339,365
SF2HIE A= 21,078,428 21,526,119 AN447,691
= 12,067,482
Il 15,906
== 1,839,335
o 7,185,705
SEEH & IHHAIS 11,924,070 12,547,596 N\623,526
= 6,146,482
Jl 15,906
S 1,839,335
= 3,922,347
ANHES 25 11,868 13,020 AT1,182
202 04l 10,368 11,520 AT1,182
01 =LHAHI 10,368 11,520 A1,152
OstBIY g2F4 0yl
10,368,000 10,368
203 =4l 1,500 1,500
03 A=A H R FZI| 1,500 1,500
Od g8 g3H] 1,500,000 1,500
SHMERES 2 52,103 51,630 473
101 @124H| 14,313 13,840 473
M ORINZZ2NSE S 14,313 13,840 473
OFNERESFY dgds 22Y 14,313
=0 78,8803 * 18 » 162& 12,779
-AEIEE JI2HRYES
12,779,000 * 12% 1,534
201 =3 37,790 37,790
01 At22t2lH] 15,860 15,860
OXXIA HME & el
1103 = 27,0004 * 42 11,880
O8E s+ MH
50,0002 = 110 * 22 1,100
OddRes d= &8 =8
803 = 3,000 * 128 2,880
2 S52g4l 21,930 21,930 0
OZNEREs LIAN RELES 21,930
-t H 2+ 15,0004 * 43 19,800
-SJ|R# 2,130 = 50021 * 23 2,130
OIS 70 A2 4,426,800 4,940,000 A513,200




FA 3
Hm: SALXI| PE
ol SEEE & OOHEAN (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,619,000
=S 506,800
s 1,301,000
402 2I2FXH=201& 4,426,800 4,888,500 A461,700
= 2,619,000
= 506,800
Ea 1,301,000
02 QI XHZ AL E R (01X THE) 4,426,800 4,888,500 461,700
OISt 701 X2
4,426,800,000& 4,426,800
= 2,619,000
= 506,800
Ea 1,301,000
SII0IEX E=AH 24,000 32,000 /8,000
= 12,000
o 12,000
402 2I2E X201 & 24,000 32,000 A8,000
= 12,000
T 12,000
02 QI T2 AL EE (01X THE) 24,000 32,000 /8,000
O&JI0IEXt FOHKIH 24,000,000 24,000
= 12,000
= 12,000
=2 NSAH F0HXI 2,251,000 1,005,000 1,246,000
= 1,715,000
= 207,000
= 329,000
402 2IF X201 & 2,251,000 1,005,000 1,246,000
= 1,715,000
[ 207,000
T 329,000
02 QI X2 AL EE (01X THE) 2,251,000 1,005,000 1,246,000
Ox=2Xsxt FO0XIH 851,000,000 851,000
= 675,000
== 99,000
o 77,000
O=2HA (DA PRI
1,400,000,000& 1,400,000
= 1,040,000
< 108,000
[Ea 252,000
F=ASHEA 2H 2 144,000 192,000 /48,000
307 glztol & 144,000 192,000 /48,000
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05 I”IIE S 144,000 192,000 48,000
OxAZHA 22 X
12,000,000& * 123 144,000
SHAST} HISIIA H2AAS (EIIHXHKIL) 9,180 7,500 1,680
201 ZEH2& ] 9,180 7,500 1,680
01 ArR2eltl 7,500 7,500 0
OXJIHZF XNE=s MEHR =8 A=
5,000& * 1,500CH 7,500
02 224l 1,680 0 1,680
OXIIHZ SHE AAL S|
140,000& » 128 1,680
AR HEILA HZAL (ZIIHIXRIE)(BX) 1,498,260 3,634,500 A2,136,240
= 749,130
& 224,739
i 524,391
301 LEt2E S 1,498,260 3,634,500 22,136,240
= 749,130
= 224,739
s 524,391
14 J|Et24 =3 1,498,260 3,634,500 22,136,240
OSHAKX HEIIA WAL (ZIIEHTX
) (553) 820,800,000 820,800
= 410,400
= 123,120
s 287,280
OSHAKX HETIA WAL (FIIEHTX
2)(4S3) 632,700,000 632,700
= 316,350
= 94,905
[ias 221,445
OSHASX HEIIA WAL (FIIEHXX
2 (AEI1AH) 44,760,000 44,760
= 22,380
L= 6,714
= 15,666
SHAR BIEIA H2ZA (OPFREHKIR) 89,100 283,800 A194,700
= 44,550
L= 13,365
[ia 31,185
301 LEI2E S 89,100 283,800 A194,700
= 44,550
= 13,365
s 31,185
14 JIEt2 a3 89,100 283,800 A194,700
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OSHASA HEIA ML A (PFRET 2
) 89,100,000& 89,100
= 44,550
[ 13,365
T 31,185
B3I12 WEX 457X 2l 1,404 1,900 A496
= 702
[ 21
Ea 491
301 LEIE NS 1,404 1,900 A496
= 702
s 21
s 491
14 J|Et2a s 1,404 1,900 A496
23012t AUEX dsKA 2l
1,404,000& 1,404
= 702
=S 21
s 491
JEIH AR WA 148,500 165,000 16,500
= 89,100
=S 17,820
s 41,580
402 2I2F X201 & 148,500 165,000 16,500
= 89,100
= 17,820
Ea 41,580
02 QI XHZ AL E R (01X THE) 148,500 165,000 16,500
OSBRI tHEILA M2 A (A&
AT WH) 148,500,000 148,500
= 89,100
= 17,820
Ea 41,580
IRAAX dSsHelS0l=2 BiEel) 30,000 0 30,000
= 18,000
= 3,600
[Ea 8,400
301 LEtE N = 30,000 0 30,000
= 18,000
= 3,600
= 8,400
14 IIEt2 83 30,000 0 30,000
OZs XAXt dssHelsol2 thefal)
30,000,000& 30,000
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= 18,000
=S 3,600
s 8,400
SSIAtE LPGRH & &tX| & 20,000 42,000 A22,000
= 10,000
= 3,000
o 7,000
301 Eet2 NS 20,000 42,000 /22,000
= 10,000
= 3,000
Ea 7,000
14 DBt 2 a3 20,000 42,000 22,000
OSeIxte LPGRE M 3tX&
20,000,000& 20,000
= 10,000
= 3,000
[Ea 7,000
IHEE NsAB2e ESME 15,000 70,000 55,000
= 9,000
= 1,800
o 4,200
402 212t X+=01 ™ 15,000 70,000 /55,000
= 9,000
& 1,800
= 4,200
02 QI X2 AL EE(0IHTHE) 15,000 70,000 /55,000
OJEE MN=sAE2e BESAME
15,000,000 15,000
= 9,000
< 1,800
s 4,200
HEE 22 EX #H4M NE 2,400 2,400 0
201 Zet=Eh] 2,400 2,400
01 AtR2telHl 2,400 2,400
OB =E(IsX2)
200,000& * 12| = 123 2,400
OIMZHAl @E=E A2 8 £X 27,000 27,000 0
201 et 3| 27,000 27,000
02 s3=gbl 27,000 27,000
opy|egdzH(ALE) 28 MRS
800,000& = 12& 9,600
Oolegdz(AAE) stz
200,000& = 123 2,400
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Oo|eadze(AZAE) KL=
15,000,000 15,000
OIMIStAl el0l 2g2el 4,003 1,080 2,923
201 er=23y| 4,003 1,080 2,923
02 S3=gHl 4,003 1,080 2,923
OQIMZAI &elil dII23
20,0002 = 3CH = 123 720
OOIMZR &el0l S&Rs
10,0002 = 3CH = 122 360
OOIMZAI &2l0l |FX2==H|
2,923,000& 2,923
Nt sMadd 12,850 34,850 22,000
201 fer= 3| 10,850 10,850 0
01 At 2|l 10,850 10,850 0
OEAZH, JI2Hs 2 &% & 2=
NES 10,850,000 10,850
303 Za= 2,000 2,000
01 Za= 2,000 2,000
O=4HNZ 7 +=2A Al 2,000
x|+ 500,000 * 2942 1,000
-2 300,000 * 2942 600
-&e 200,000 = 2J4 2 400
BASYIAE(0UI) It AMEE Xz 29,412 42,412 213,000
Il 14,706
= 14,706
301 EtE N = 29,412 42,412 A13,000
Jl 14,706
Ea 14,706
14 DBt 2 a3 29,412 42,412 213,000
OSHASEHEAE(MUXI) IHEE
29,412,000 29,412
Il 14,706
s 14,706
BASYILIE(NSK) AMEE X8 2,400 2,400 0
Jl 1,200
= 1,200
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Jl 1,200
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OSHASEHAE(XSI) QHEIE X2
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AEIIoH 2 AICH 6,000 9,300 23,300
= 1,200
= 4,800
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= 1,200
[Ea 4,800
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S8l 2H 2012 6.000,0002! 6,000
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s 4,800
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-JHel 100,000& = 10 1,000
= 100,000 » 30HA 300
308 L= 500 500
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OBYBH RTIL AlY
50,000& » 10H 500
307 212t01™ 6,400 6.400
02 QI EANEE X 6,400 6,400
OXAStE 2HALS 6,400,000 6,400
AASEELHAIE 73,890 72,200 1,690
101 e124d| 1,790 0 1,790
04 JIZtNZ22 XS 2+ 1,790 0 1,790
O MEjZ) 22| 2 1,790
-Jl== 59,1602 = 1& = 2rd 1,598
28 JIBRL(DE, M)
1,598,000& * 12% 192
201 er2 3| 9,100 9,200 A100
01 AtR2telHl 300 300 0
OYUT 4HIB A 25 72
300,000 300
02 S3=2g4l 8,800 8,900 A100
O MEHZE BT
300,000& = 12& 3,600
OYUT| MEHBY FoIE Ho
100,000& * 403! 4,000
O8Y 428 3223
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[Ea 10,863
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22,000,008 * 27| 44,000
= 13,200
2 30,800
OmILYEIY @123
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= 1,764
oulIeEEY MR
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== 79
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OSSH=XM2AIE =& ™S S301J| 85
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OSEH=XM2AE =& ™S S3I1J| =Xl
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14 IIEt2 8= 81,000 151,500 70,500
OOt S= LKA X2
81,000,000& 81,000
= 24,300
Ea 56,700
OriS= HIALHI 2l 1,000 1,000
206 M=H| 1,000 1,000
01 M= Hl 1,000 1,000
OOHMSE ARl 28 e
1,000,000 1,000
OsE 25 2 IX8s 6,700 6,700 0
307 lztol & 6,700 6,700
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